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For each answer, write the correct number down

AND fill in the bubble(s) on the answer sheet.

1. Let 4 be the number of different letters in the word
“happy”, let B be a positive integer divisible by 9, and
let C be the number of natural numbers that are less

than 1. Find the result for A+B+C.

. Mr. A was thinking of 3 numbers, which are 3, 7, and
Z + 2; and Mr. B was also thinking of 3 numbers, which
are 3, y — 2, and 9. If every number Mr. A thought of is
the number that Mr. B also thought of, and every number
Mr. B thought of is the number that was also thought of

by Mr. A, then find the result of = + y.

. A car travels 264 km within 2 hours and 45 minutes.
If the car runs at this same speed, how many kilometers

can it travel within 40 minutes?

. A rectangular paper has its perimeter of 1.36 meters.
When the paper is folded to make three equal sections,
each section forms a square. Find the area in cm’ of

the original rectangular paper.
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. A right triangle is constructed as shown by using a rope
of 150 cm in length. If the lengths of sides AB, BC, and
CA are S units, 12 units, and 13 units, respectively.

Find the area of the right triangle in cm’.
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6.0A=4x10"+7x10°ud21 A xﬁ mdumls 6.1f4=4x 10" +7 x 10°, then what is the result of A xﬁ?

7. 109 2 Suniiilu 36 & uaz 20 & vudumazvyuaaoun luwiounu 7. Two gears, one with 36 teeth and the other with 20 teeth,

v are coupled and rotating together. Before rotating, suppose
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tooth A on one gear was in contact with tooth B on the
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other gear. Then, after the first gear rotated m round(s),
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WHINNUDI m + n meet again for the first time. Find the result of m+n.

8. 1¥ya a uazga b eguudusiiu 6199 a 0¥1991090 — 4 MY 8. Let point a and point b be points on a number line.
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99 10 (Juszeziiu uazya b 0gv199In9a — 6 Muga 9 uszey Ifpoint a s far away from point -4 and point 10
by the same distance, and point b is far away from
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point — 6 and point 9 by the same distance, then find

the result of a+2b.
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9. WHINUBY a %ﬁaﬂﬂamﬂmaau”leuammammwmﬂﬁm"lﬂu 9. Find the value of a that satisfies the following two relations;
(Ma<b=-3 Wa-b=16 (A)a+b=-3 B)a-b=16

10. JINIMUDI 10. Find the result for

4. 2
(2) = (14 + (3 x2} = (-2) (2= 19+ (3 x 2} = 2)
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1. Tufuninnveudsungumaylungalea sranainaranuily 11. On one day in May in the city of Seoul, the duration
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11 Yesrnmnaiu wmrihanananiuvesiudind of night time is - of the duration of day time.

LAY Find out how many minutes the day time duration
on that day is?

12. ﬂﬁﬂﬂiﬂﬁﬁﬂiﬁ:ﬁﬂi 5 11] ﬁﬁwmmam 1,2, 4,810 16 12. A box contains 5 cards, which are numbered as 1, 2, 4, 8,

a o Y 9 14 a o & and 16. Mr. A picked card number 1, and card number 2
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and put them back in the box. Then, Mr. B picked a certain
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number of cards and put them back in the box. If Mr. A
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! Gl,‘IJL‘VI"qu WG B ﬁ]wﬁEJ‘]J‘]J@]i“lﬂTI\WﬁJﬂﬂLL‘U‘U and Mr. B had picked only one card that is the same, then

how many patterns could Mr. B’s picking be?
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13.

14.

15.

Within the students of a classroom, the ratio of boys
to girls was 7 to 9. Later, there was a number of new
girl students moving in to the classroom. This makes
the total number of students be 35 and the ratio of boys
to girls be 2 to 3. Find out how many new girl students

have moved in to the classroom.

36
10—z

Find the sum of all natural numbers x that make

be natural number.

After falling from a height, a ball always bounces
back to 0.6 time of the height from which it fell.
If the ball has fallen, and after bouncing on a floor
for three times, it reaches to the height of 43.2 cm.

What was the original height from which the ball falls?

16. A number in the base-two numeral system is to be

constructed in the pattern as shown below by tossing

a die three times.
NN

In each toss, if the face of the die shows an odd number,

then the corresponding digit is assigned as 1. However,

if the face is an even number, then the digit is assigned as 0.

What would be the sum result in base-ten numeral system
for all numbers that could be constructed by this rule?

(Given 000,,=0,, 001 =1

two’ two two’

0 1 Otwo = ] Otwo)

17. If two dice with different sizes are tossed at the same time,

find out how many cases that the sum of the numbers on

the dices is a prime number.
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18. There are two overlapping semicircles as shown. OA is
the radius of the larger circle. If the shaded region (A) and
the shaded region (B) are of the same area, then how large
is angle x? ( point O is the center of the larger circle, and
the ratio between the circumference and the diameter of

a circle must be used as 3.14)

A
(B)
(A)
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19. A solid wooden cylinder has the radius of its base equal
to 10 cm and the surface area of 2,826 cmz, as shown.
What is the height of this wooden cylinder in cm?

(the ratio between the circumference and the diameter

of a circle must be used as 3.14)

20. Find the natural number x that satisfies the following

three conditions;

(a) 735 is divisible by .
(b) x is divisible by 6 different natural numbers.

(¢c) x is the sum of two natural numbers, of which

the ratio is 2 to 3.

21. How many natural numbers x that are perfect square and
720 is divisible by x? (a perfect square number is a number

that can be written as a square of an integer)
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22. Notice that 17" May means the 17" day of the 5" month;
the date and the month are both prime numbers. Find
out how many days in year 2008 that have both date and

month as prime numbers.

23. Yongju has 10 coins for each of the 100-won coin,
50-won coin, and 10-won coin. He wants to buy some
stationery of 650 wons in value. How many ways can

he make the exact payment of 650 wons?

24. Find the sum of two natural numbers that satisfy the

following three conditions;

(a) The product of the two numbers is 3,402.
(b) The greatest common divisor of the two numbers is 9.

(c) When the larger number is divided by the smaller

number, the remainder is 18.

25. A cube having a side of 5 cm in length was drilled at
the center of each face to make a square hole of side
1 cm piercing through the opposite face, as shown.
Find the surface area, in cmz, of this three dimensional
shape.

Scm

lcm

26. Mr. A wrote a set of numbers that contains 6 different
numbers, and Mr. B wrote a set of numbers that contains
4 different numbers. Later, Mr. C was asked to think of
a set of numbers that is consistent with the following two
conditions;
(1) All numbers that Mr. A wrote are the numbers that
Mr. B wrote, or Mr. C thought of.
(2) All numbers that Mr. B wrote, or Mr. C thought of are
the numbers that Mr. A wrote.
How many possible sets of numbers could Mr. C think of?

(Mr. C is aware of the numbers written by Mr. A and Mr. B.)
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27. How many three-digit natural numbers » that make

2n+17

: be a fraction in the simplest form?
n+

28. For each natural number n, the digit product of n is defined
as the product of each individual digit of #; for example,
the digit product of 15is 1 X 5=5.1Ifa, b, and c are
two-digit natural numbers that satisfy the condition;

“(the digit product of a) x (the digit product of 5) x
(the digit product of ¢) = 12” What would be the largest

value fora + b + c?

29. Let @@ be a four-digit natural number,

in which 4, B, C, and D are four different values of

those digits and are related by the following relations;

(@B=4xB (b)C=DxD ()D=4+8B

If @@ is to be represented in the base-two

numeral system, then how many zeros will there be?

30. Let the distance between point A and point B be 1 km,
and let point P be the midpoint between point A and
point B. Taeo and Toowan started walking from point P
at the same time. Taeo was heading to point A at the speed
of 40 meters per minute while Toowan was heading to
point B at the speed of 60 meters per minute. If they both
are to keep walking back and forth between point A and
point B continuously, how many minutes does it take from
the start until the distance between them is 200 meters
again for the tenth time? (given that the speeds at which
they walk remain the same at all time and are independent

of the directions they walk)
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